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Madsen,Cathy — Greet,Andrew
Bearsden Simul 07.10.2014
Jacob Aagaard

Played at a simul in Bearsden Chess Club. Cathy is 6 years old and the daughter of Jacob Aagaard.

1.d4 d5 2.0 f3 o {6 3.g3 ¥ g4 4.¥ g2 €6 5.0-0 @ bd7 6.b3 c5 7.¥b2 | c8 8.c4 cxd4 9.0 xd4 dxc4 10.¥xb7
h52!

Aiming for a quick win.

11.¥xc8 £ xc8 12.f3 ¥h3 13.] £2 ¥ ¢5 14.bxc4 e5 15.0 b3 ¥xf2+ 16.¢ xf2 h4 17.2 ¢3 hxg3+ 18.hxg3
White has exited the opening with an edge, but clearly the titled played will trick the little girl very soon.

18..¥e6
18...£ xc4 19.¥a3! with a clear edge for White.

19.! c1n?
19.£ d6!

19...e4 20.¢C e3?
An awful move. But Daddy is not allowed to help.

20.¥a3! would have been awkward for Black.

20...0 e52?
A natural-looking move, but also a big blunder.

20...£ b8!? with roughly even chances was better.
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Cathy misses her big chance. Here White could win with
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21.8 b5! and Black has to give up a piece due to & d6+.



21...0 fg4+
Now it goes the other way.

22.¢ d2
22.¢ 4 {6 with ...g5# coming.

22...8 xc4+ 23.¢ c2 @ ge3+ 24.¢ bl @ xdl 25. xd1 =@ xb2 26.¢ xb2 ¥xb3 27.axb3 | h6 28.] al | c6
29.} xa7 | xc3 30.¢ a3 £ c5+ 31.¢ a4 £ xa7+ 32.¢ b4 £ c5+ 33.¢ a4 | cl 34.b4 £ c4 35.e5 | al#

Aagaard,Jacob — Greet,Andrew
Bearsden Simul 07.10.2014
Jacob Aagaard

Yes, Jacob played against Andrew in the simul. He is after all 2 member of the club!

l.e4 d5 2.exd5 £xd5 3.0 ¢3 £d8 4.d4 © {6 5.0 {3 ¥ g4 6.h3 ¥xf3 7.£xf3 c6 8.¥e3 6 9.0-0-0 = bd7
10.g4 ¥b4 11.g5 o d5 12.8 e4 £ €7 13.h42 0-0-0?
13...f5 was probably best.
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Missing 14.c3! ¥a5 15.£ xf7! with a winning advantage.
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14...0 xe3 15.fxe3 5 16.gxf6 @ xf6 17.2 g5 €5 18.¥ h3+ ¢ b8 19.dxe5 =@ d7
19...£ xe5 20.0 £/

20.e6
20.¥xd7 | xd7 21.e6 felt a bit loose, but holds up. White is doing really well.

20...0 b6
20...1 5 21.£ e4 ¥d6 22.] hfl was maybe safer for Black, but White is doing well.

21.0 7| xd1+ 22} xd1 | £8 23.£ g3+
23.£ f4+ ¢ a8 24.23 would have won a piece.

23...C a8 24.£ xg7 @ xc4 25.] d4? £ ¢5 26.£ g5
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26...0 e5+?

26...8 xe3+ 27.E xc5 ¥xc5 28.] d7 & d5 and it is not that easy for White to make progress, although he has the
better position.

27.¢ bl o xf7 28.exf7 £ b6 29.| e4 a5 30.] €8+ ¢ a7 31.£ f4 £ c52!
31...£b5
White has only one clear way to win here!!

32.£ d4+
a) 32.¥f1 £ d5 is a miraculous draw!
b) 32.£b8+ ¢ a6 33.£ a8+ ¢ b6 34.£ d8+ ¢ a7 35.£ d4+ only transposes. (35.] xf8 ¥xf8 36.Exf8 £ d3+ is a
draw.)

32..¥c5 33.a4!! ¥xd4 34.axb5 ¥ g7 35.¥e6 cxb5 36.¢4

and Black is defenceless.

32.£ b8+
32.a3! would win immediately.

32...¢ b6 33.£ d8+ ¢ a7 34.a3 ¥xa3 35.bxa3 | xf7 36.£ d4 £ xd4 37.exd4 | f4 38.] e7+
We agreed to stop the game, as Cathy had finished. White should win after

38...h5 39.¥ c8 | xd4 40.| xb7+ ¢ a8 41.] h7 | xh4 42.¢ b2
although it will take time.
1-0

Giri,Anish — Mamedyarov,Shakhriyar
Tashkent FIDE GP 22.10.2014
Jacob Aagaard

1.d4 d5 2.c4 c6 3.0 f3 0 f6 4.0 c3 €6 5.e3 @ bd7 6.£ c2 a6 7.b3 ¥d6 8.¥b2 0-0 9.¥e2 &5
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10.0 xd5! @ xd5 11.cxd5 £ a5+?!
11...e4!? 12.£ xe4 £ a5+ 13.¢ f1 xd5 14.£ c2 & {6 would leave Black with play for a pawn. Still I prefer White.
But I am sure that we will soon see the reality of this in GM games.

12.¥c3 ¥b4 13.¥xb4 £ xb4+ 14.£ d2 £ xd2+ 15.¢ xd2 exd4 16.2 xd4 cxd5 17.} hcl = {6 18.) c7 | d8
19.] acl @ €8 20.; 7¢5 ¢ {8 21.g4 h6
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22.f3

It is obvious that Giri got it wrong in the game, playing {3, h3 and then f4. I would suggest that White has good
winning chances after more aggressive play: 22.h41? @ d6 (22...8 {6 23.f3 does not improve things for Black as far
as I can see. Next comes g5 and f4 with a transposition of sorts (except that White might be winning a tempo?).)
23.¥f3 ded+ (23..¥d7 24.g5 hxg5 25.hxg5 @ ed+ 26.¥xed dxed 27.0 e5 | e8 28.| xe8+ | xe8 29.| 7 ¥c8
30.C c3+) 24.¥xe4 dxed 25.g5 It looks odd to allow this exchange, but White's bishop was not doing anything and
in Black's position the knight was doing everything. My plan is simply to win the b-pawn or e-pawn. Long term
this could happen in this way: 25...¥ g4 26.] ¢7 | ab8 27.} 1c5 hxg5 28.hxg5 | €8 29.¢ ¢3 g6 30.¢ b4 ¢ g7 31.} d5
(31.24 b6 32.} d5 | bc8 33.1 b7 | b8 34.! xb8 | xb8 35.] e5+) 31...b6 32.} a7 a5+ (32...] a8 33.] xa8 | xa8 34.} e5
¥f3 35.1 €7 €8 36.] b7 b5 37.8¢6) 33.¢ b5 ¥e6 34.8 xeb+ | xe6 35.] ¢7 | h8 36.] c6 | xc6 37.¢ xc6 | h2
38.¢ xb6 | xf2 39.a4 | €2 40.¢ xa5 | xe3 41.b4 5 42.gxf6+ € xf6 43.b5 | d3 44.] c5 €3 45.] c1 € €5 46.b6

22..C ¢7 23.h3 ¢ d6 24.64 ¥ d7 25.% 3 0 £6 26.8 5+ ¥ xf5 27.gxf5 | 7 28.¢ d3 | €8 29.! c8 ! xc8 30.! xc8
| c7 31.; b8 ¢ c5 32.a3 a5 33.] f8 ¢ d6 34.] a8 | c5 35.] f8 | c7 36.] a8
BV



Swan,lain — Aagaard,Jacob
Glasgow league 11.11.2014
Jacob Aagaard

l.e4 c5 2.0 {3 d6 3.d4 cxd4 4.0 xd4 @ £6 5.0 c3 g6 6.f4 @ c6 7.0 f3 ¥¢g7 8.¥d3 0-0 9.0-0 ¥g4 10.£ el
| <8 11.£h4 £ a5 12.¥d2

12.f5 ¥xf3 13.} xf3 @ e5 14.] h3? doesn't work after: 14...} xc3! For example: 15.bxc3 £ xc3 16.] bl (16.¥b2
£xb2 17.£el @ xd3 18.cxd3 @ xed 19.} d1 ¥d4+ 20.¢ f1 £ 2+ 21.£xf2 o xf2 22.} h4 o xdl 23.} xd4 @ €3+
24.¢ f2 o xf5 25.] b4 b6 0-1 Madhurima — Ivana Maria, Sharjah 2013) 16...2 xd3 17.cxd3 £ ¢2 18.} al £d1+
19.¢ 2 @ g4+ 20.¢ g3 ¥e5+ 21.¥f4 £ xd3+ 22.¢ xg4 h5+ 23.¢ g5 ¥{6+ 24.¢ h6 ¥ g7+ 25.¢ g5 £ xe4 with mate to

follow.

12...0 b4 13.¢ h1 £ h5 14.£ £2 ¥ xf32N

14...8 d7 led to the following fun game. 15.8 el @ ¢5 16.h3 8 cxd3 17.cxd3 ¥xh3 18.gxh3 £ xh3+ 19.¢ gl
axd3 20.2xd3 ¥d4 21.mell? Boldly avoiding the draw. (21.£ xd4=) 21..£ g4+ 22.8 g2 ¥xf2+ 23.| x{2 €6
24.} afl This shouldn't really work for White, but it eventually did: 24...} ¢5 25.e5 d5 26.2 d1 d4 27.¥b4 | cl
28.1 d2 | fc8 29.} xd4 h5 30.¥c3 | xd1 31.] fxd1 h4 32.f5 £ xf5 33.8 xh4 £ c2 34.] f1 | xc3 35.bxc3 £ xc3 36.2 {3
¢ g7 37.¢g2 £e3 38.1d8 b5 39.. hl £e4 40.¢ g3 g5 41.| hh8 £ f4+ 42.¢ £2 5 43.ext6+ 1-0 Hector —
Mikkelsen, Bronshoj 2010

15.£ xf3
15.gxf3 8 d7 16.] gl @ ¢5123 (16...0 xd3 17.cxd3 £ a5=)

15..£ xf3 16 xf3 o d73

During the game I only noticed that my position was much easier to play. Iain got into time trouble and I won.

=>>>>>>>>7

v\t {0 A
[2&° (286 &A
Z ! &" A
y" " " A
X 4 " %1 " A
W' 3) "+ A
V%1 %5 " %1 A
uz " " "/ A
Bl "~ abcdD

17.g4 @ c5 18.g5 a6 19.¢ g2 | £d8 20°h4 6 2T°h5 d5

21...gxh5"2

22.e5

22.exd5 @ xd5p

22...d4 23.9 €2 = bxd3
23...8 cxd3 24.cxd3 | c2 25.¥xb4 | xb2 was one of my ideas. It loses to 26.h6!!



24.cxd3 @ a4 25.hxg6?
25.} cl gxh5!2 26.¢ h3 @ xb2 27.} xc8 | xc8 28.a xd4 | d8 29.¥c3 = d1 30.¥al | d5°

25...} €2 26.gxh7+ ¢ xh7 27.¥a5 | d5
0-1

Aagaard,Jacob — McKay,Roddy
Glasgow League 20.01.2015
Jacob Aagaard

l.e4 c5 2.b3

Roddy's theoretical knowledge ends somewhere in the 1980s and I just wanted a game.

2...a6 3.¥b2 o c6 4.f4?

This is an appalling move!
4.0 f3 e6 5.c4 would have made sense.

4...e62!

4...e5!'and White will have to sacrifice a pawn under suspicious circumstances.

5.0 f3 o ge7 6.d4 cxd4?!
6...d5! would have been good. 7.dxc5 £ a5+ 8.£ d2 dxe4 9.£ xa5 @ xa5 10.8 fd2 {5 11.b4 @ ac6 12.a3+

7.0 xd4 o xd4
7...d5 still equalised.

8.£xd4 @ c6 9.£ €3
From this point I liked my position.

9..¥b4+
I hoped for this. The bishop has no task here and I wanted my knight on ¢3 anyway.

10.a ¢3 0—-0 11.0-0-0 £ a5 12.h4!

Not sure what the engines are saying. But I wanted to attack g7. Ideally we would get into an ending where his
bishop would be entirely useless on ¢8. Probably White's advantage is not so big according to Komodo, but I really
did not like Black's position. How is he going to include the rest of the pieces?

12...d6 13.h5 ¥ d7 14.¢ b1 ! ac8 15.0 a4!

A nice tactic.

15...¥e8 16.a3 ¥¢5 17.£ g3 f6 18.¥ c4 = d8 19.1 xc5 £ xc5 20.f5
20.h6 g6 21.£ g4 is a computer idea. Black looks busted. But what I played was useful as well.

20...b5 21.h6 ! 7
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22.} xd6! bxc4 23.b4 £ a7 24.} xd8 e‘] 25.; hdT £ b7 26.} 1d5
Preventing ...a5 and ...Qxe4. I was also hoping for the move he played in the game.

The computer said something about 26.¥xe5! fxe5 27.f6 g6 28.£ xe5 and wins. Well, at least it is clear that I was
not cheating!

26...¥ c6?!
Losing by force, but Black's position was abysmal.

27.1 xf8+ ¢ xf8 28.] d8+ ¥ e8 29.¥ xe5! fxe5 30.£ xe5 £ c6
30...; €7 31.hxg7+ ¢ £7 32.} xe8 and White wins his piece back with interest.

31.] xe8+
This was enough to force resignation, but Komodo said that 31.} ¢8! was rather pretty!
1-0



Exercises

Jobava,Baadur — Caruana,Fabiano
Tashkent FIDE GP (2.5) 22.10.2014

The position after White's 44th move is the main attraction, but the whole game is fun (including the Reversed
Philidor opening) so I shall leave in the moves that led to the puzzle:

l.ed e5 2.0 f3 1 c6 3.¥e2 0 £6 4.d3 d5 5.2 bd2 ¥¢5 6.c3 a5 7.£ a4 0-0 8.b4 ¥d6 9.0-0 b5 10.£ xb5 axb4
11.exd5 @ a5 12.cxb4 ¥ d7 13.£ xa5 | xa5 14.bxa5 @ xd5 15.2 e4 £ a8 16.d4 exd4 17.2 xd6 cxd6 18.0 xd4
£ xa5 19.¥f3 | b8 20.24 £ c3 21.¥a3 £ xd4 22.] adl £ xa4 23.¥xd6 | d8 24.¥xd5 ¥ g4 25.f3 ¥ 6 26.¥ xeb
fxe6 27.) d2 e5 28.} fd1 £b5 29.h3 ¢ {7 30.; d5 £e2 31.¢ h2 £c4 32.¢ hl h5 33.¢ gl £b3 34.] 1d3
£b6+ 35.¢ h1 £ ¢6 36.; d1 g5 37.] 5d3 £ c4 38.] d5 g4 39.fxg4 hxg4 40.hxg4 e4 41.] 5+ ¢ g6 42.} dd5
| h8+43.¢ gl £cl+44.¢ f2
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Hansen,Soren Bech — Semcesen,Daniel
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White to play and win



Farahat,Ali — Melkumyan,Hrant
World Team Championship (9.4) 28.04.2015
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A draw was agreed here. Should White have played on?
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Solutions to Exercises

Jobava,Baadur — Caruana,Fabiano
Tashkent FIDE GP (2.5) 22.10.2014
Jacob Aagaard

44...! h1!

with the threat of mate on el, would have won the game.

44..) a8 455 | a6 46.6 g3 £el+ 47.6 h3 £c3+ 48.6 h2 £h8+ 49.0 h5 £b8+ 50.¢ h3 £f4 51.} dfs £cl
52.¥f8 | e6 53.6 h2 £ c7+ S4.g3 £c2+ 55.6 h3 £cl1 56.¢ g2 | 8 57.0 hG+ £xh6 58.¥xh6 ¢ xh6 59.¢ £2 €3+

V2—Y> was how the game finished

45.] g5+
45.¥b4 £ gl+ 46.¢ €2 £xg2+ 47.¢ €3 £ xg4 wins for Black, as after 48.] g5+ £ xg5+ 49.] xg5+ € xg5 50.¢ xe4
Black conveniently has 50...} h4+ .

45...£ xg5 46.] xg5+ ¢ xg5 47.C €3

47.¢ g3 | f1! 48.¥c5 € 6 49.¥d4+ € e6 50.¥e3 € e5 51.¥b6 | bl 52.¥e3 | b3 53.¢ 2 | b2+ 54.¢ g3 | c2!
Zugzwang! White has to push the pawn, as 55.g5 (55.¥b6 is met with 55...; c3+ 56.¢ f2 ¢ 4 and Black is on his
way to winning the game.) 55...¢ f5 56.g6 | ¢6! and Black eventually wins.

47...0 el+48.¢ d2 | al 49.¢ €3 | a4

Black has a winning position, but it is far more concrete than you would have guessed in advance. The critical
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